Retracement of W. Bdy. of T 6 N R 39 E., W.M,

Chains g :Fﬁab
40.00 | Find no trace of the % sec. cor. Set temp.

80.00 | Find no trace of the cor. of secs. 25, 30, 31, and 36.
Set temp.

North, retracing bet. secs. 25 and 30,
40.00. | Find no trace of the § sec. cor. Set temp.

80.00 | Find no trace of the cor. of secs., 19, 24, 25, and 30.
Set temp. : i i

North, retracing bet. secs, 19 & 24,
40.00 | Find no trace of the 4 Sec. Cor, Set temp,

80.00 | Find no trace of the cor. of secs, 13, 18, 19 & 24,
Set temp.

North, retracing bet. secs, 13 & 18, :
40,00 | Find no trace of the %+ sec. cor. Set temp.

43.97 | Intersect the Oregon and Washington bdy. Find no trace
of the old closing cor. of Tps., 6 N., Rs. 38 & 39 E.

From this point the proportionate point for the closing
cor, of Tps. 6 N., R 38 & 39 E., bears N. 89949 W.,
21,11 chs. dist, : :

The line bet. the old cor, of Tps. 6 N., Rs, 38 & 39 E.,
¢ and the proportionate point for ths closing cor, of Tps,

6 N., Rs, 38 B 39 E., is therefore N. 4° 15' W,, 284,82
chs. The proportionate length of the E. bdys. of secs.
36, 25, 24 is 77.98 chs., and the proportionate length
of the E. bdy. of sec, 13 1s 50.88 chs.

True line,

Thence from the cor. of T 6 N,, R, 39 E. only., herein-
before described,

N. on the W. Bdy. of sec, 31,

.1.95 | The old Tp, cor. of Tps. 6 N., Rs. 38 & 39 E., which 1s
determined from traces of old rotted stake and
svidence of original mound and pits,

This cor, will hereafter refer to T 6 N R 38 E., and T,
5 N., R, 39 E.

At true point for cor,
Set an iron post, 3 ft. long, 3 ins. diam., 27 Ins. in

the ground, for cor., of T 6 N., R 38 E., and T § N.,
R. 39 E., with brass cap marked,

from which

A spruce, 9 ins. diam., brs., N, 45° W., 18 lks. dist.
marked’T 6 N R 58 E' 5 36 B T ’ ®
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